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£ | A = £ X HR 5 &%
27| 2R 1B BARFEHRXAFHERHESR E = ¥10,000
27%| 2R 4B | EERHEHIIEDEL =& ¥10,000
271% 2R| S5H MEETERFER =& ¥10,000
27%| 2RA| SH HUABRRMKBBESHAIERIBIFESR e ¥5,000
271%| 2A| S6R|BIEXHSIFEARES E = ¥10,000
21%| 2R| 6B EHFHILHBEIHES E = ¥10,000
275 28| 78 :;\:)/ir\%%iouzwf;o%%ﬁm&—vzx e ¥20,000
27| 2R TH AP /NEEXEDHISHEEARKS E-¥ =1 ¥10,000
27%| 2A| 10B | HiERBBREBEHE FH ¥30,000
27%| 2A| 168 | HIERBBREBECHE (X ¥16,200
274 28| 20B zmzmiaﬁmﬁmﬁf’%%mﬁ%ﬂé%ﬁﬁ of ¥10,000
27| 2R 20H HEXBLREHEBHRS E-E =1 ¥10,000
27| 2R 26H BHFPFXEBEXREHEBHRS E-E =1 ¥10,000
27| 2R 271H HUARBLREHEBHRS E-E =1 ¥10,000
2R EE 144 ¥171,200

[(ZHX55] X 7 % T
= =1 14 ¥105,000
; = 14 ¥20,000
& # 14 ¥30,000
twm - & £ H 14 ¥16,200
% ) ith o4 ¥0
2 B & F 1444 ¥171,200
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